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1 I’'m a Freshman AR

1. Listening comprehension.
Section A
Listen to the five short conversations only once. Choose the appropriate letters
A—D to answer each question.
1. A) Because she was unable to have her picture taken.
B) Because she has not chosen a picture for it.
C) Because she has broken her camera.
D) Because she has gone to a photography class instead.
2. A) She’s lent the texts for just a few days.
B) She kept the texts that are still up-to-date.
C) She’s no longer interested in science.
D) She moved her science texts away from other books.
3. A) He would prefer calling her next week.
B) He will let her decide about the next class meeting.
C) He would like to buy some refreshments for the class meeting.
D) He definitely wants to know about the next class meeting.
4. A) Both chemistry courses are difficult.
B) Few chemistry courses are hard.
C) Chemistry 402 was worse than chemistry 502.
D) He has only one chemistry course.
5. A) Dick is practically the only one who thinks so.
B) Most people play football differently.
C) Most people are optimistic about this year’s football season.
D) Dick is disappointed in football games.

Section B
Listen to the two long conversations twice. Choose the appropriate letters A—D to
answer each question.

Conversation 1

6. A) British. C) Australian.
B) French. D) American.

7. A) English. C) Library Science.
B) Commercial Management. D) Physics.

Conversation 2
8. A)A landscape artist. C) A student.



B) A teacher. D) A school register.

9. A) A text book. C) A bouquet of flowers.
B) Some paintbrushes. D) Some drawings.
10. A) Tomorrow. C) Next week.
B) This evening. D) Next Monday.
2. Vocabulary.
Find the items equivalent to those given in Chinese in the table below.
A e university president S e T vocational school
C e Bachelor D e teaching assistant
E -mvememecenceemeees extra-curricular activities F oo associate professor
G e scholarship H oo teaching faculty
I e freshman L et sophomore
| e diploma | P tuition
M -rmememeeneeee e certificate A ——— transcript
O e work-study program

Examples: (J) (K%) “FH%¥4 (D) B

L( ) %% ( ) KX—F%

2.( ) BA¥K () Bk

3. ) BINER ( )%t

4.( ) mEe ( ) %R%$

5( ) BIRL ( ) BHITEEIR

3. Translation.

Section A

Complete the sentences by translating into English the Chinese given in brackets.

L. (BRERIEL T N%¥%1K), my family were very pleased.

2. When answering questions, you should raise your voice (LMEEA A ERREYT
BER).

3. (BR#1EZ41), you’d better study another language.

4. For teaching kids, (R in st THEVP).

5. (A B B &) that learning is vital to one’s growth.

Section B

Choose the best translation.

6. Usually students who are here on scholarship are automatically covered by an established
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insurance plan.

A) ORI, EXEERRFESRENFESBIHEE—RE TR,

B) &%, XRiXBEHFERFEHFES BB —HRE TR

C) —MRKi, RiXERIERFESFRNFERERN BIE—H CHLRE TR
D) #E¥%, EXBEHARMEEENZESRBNRE 4 ORI

. I imagine I could go to the theater again and have just as good a time not trying to think of an

opening sentence.

A) BRERITUBKLERGERE, REEZ—&, MALZIBAFHETH M.

B) RAEEWUBXRERRE, AARATTHENERBKEE.

C) BREHEWUBKLEIBRRE, FEEREARTEamRA AR

D) RLAEEFEHCN KRB TREE T —&)L, BAESEFZE, RXEIET.

. A rabbit moves about by hopping on its hind legs, which are much longer and stronger than its

front legs.

A) RTIEERRBEER T #E), XEEAERA KR .
B) T HR/GMBEERT S, H/EHTBATRKTAE N .

C) ABRKHANMERKSE FEEREBRA BT,

D) %M ERRBEER, HEERBRATHRKTA 7.

. Shorthand is a method of recording words rapidly by using symbols or letters to represent sounds.

A) EICRE A ERSRSRERER i R T ik
B) HiCHRAMSHFRARAEFREKR LIARTHITE.

C) EIHEMMNSHRFEARSE T REL T RTKITE,

D) Eid#l A5 BERRS FHRES LA R FHTIE.

4. Structure.
Section A
Choose the appropriate letters A—D to complete each statement.

1

. It is from my course professors I learned a lot about the sketching course.
A) where B) whom C) that D) which
. How can I be assured the quality of service I will be receiving?
A) with B) from C) of D) toward
. Work , the workers left for home without delay.
A) were over B) being over C) are over D) over
. No one shall be to torture or to cruel, inhuman or degrading treatment or punishment.
A) subjected B) led C) taught D) entitled
. Many local primary school students dancing class this summer vacation.
A) picked up B) enrolled in C) sat for D) appealed to
. The sources of pollution of Ganga or any other river can be classified broadly into

point-sources and non-point-sources.
A) for a matter B) in contrast with C) in any matter D) for that matter



7. The timing of the swearing-in of the 13th President on July 25 would be decided in
with the President-elect, official sources said on Friday.

A) consideration B) attention C) consultation D) opinion
8. her address, he would have gone to visit her.
A) He had known C) If he knows
B) Had he known D) If he has known
9. The Graduate Student Association funds to graduate students who enrolled in degree
programs to participate in professional development for the 2007-2008 academic year.
A) provided B) provide C) is provided D) will be providing
10. Woodward said, “I will not withdraw Laura and Barney are the only ones supporting
me.” Barney is his dog.
A) as if B) even if C) only if D) no matter whom
Section B
Fill in each blank with the proper form of the word given in the brackets.
11. There was a large (attend) at the party.
12. Pistorius was later (qualify) for running outside his lane.
13. The user should fill in the (register) form to obtain the license key by mail.
14. All the students dislike Peter for his (honest) behaviors.
15. This is an incomplete list of celebrities who (award) the Order of the British
Embpire. ;
16. He takes a shower, then walks (extreme) slowly over to the pool, climbs the

high-dive platform, jumps in the pool, and swims.

17. The United States Declaration of Independence declared that the Thirteen Colonies were
(depend) of the Kingdom of Great Britain.

18. The strikers were threatened with (dismiss) if they did not return to work.

19. Life cannot be more (enjoy) than this: cool weather, quiet night, white beach and
red wine.

20.1 wish I (take) an applied statistics course. But I thought the course was difficult
and gave it up.

5. Reading comprehension.

Section A

Read the passage and choose the appropriate letters A—D to answer each
question.

Good health is not something you are able to buy at the drugstore, and you can’t depend on
getting it back with a quick visit to the doctor when you are sick, either. Making your body last
without major problems has to be your own responsibility. Mistreating your system by keeping bad
habits, neglecting symptoms of illness and ignoring common health rules can reduce the best

c 4



medical care.

Nowadays, health specialists promote the idea of wellness for everybody. Wellness means
achieving the best possible health within the limits of your body. Some people might prefer a lot of
easier exercise to more strenuous exercise. While one person enjoys playing seventy-two holes of
golf a week, another would rather play three sweaty, competitive games of tennis.

Understanding the needs of your own body is the key. Everyone runs the risk of accidents, and
no one can be sure of avoiding disease. Nevertheless, poor diet, stress, a bad working environment,
and carelessness can ruin good health. By changing your habits or the conditions surrounding you,
you can lower the risk or reduce the damage of disease.

1. What does the writer imply about good health?
A) The best medical care maintains good health.
B) It’s late to see the doctor when you feel sick.
C) Good health results largely from good habits.
D) Doctors are responsible for maintaining people’s health.
2. Which of the following is the most similar in meaning to “strenuous” (in Line 3, para. 2)?

A) Easy. C) Exciting.

B) Hard. D) Funny.
3. What can’t people avoid completely according to the passage?

A) Accidents and disease. C) Developing bad habits.

B) Being sick or getting overweight. D) Neglecting common health rules.
4. What can people do to maintain or improve their health?

A) Change their habits. C) Change their living conditions.

B) Change their working environment. D) All of the above.

5. What might be the best title for this passage?
A) How to Reduce the Damage of Disease
B) How to Keep Good Health
C) Man and the Environment
D) Understanding the Needs of Your Body

Section B

Read the passage and complete the information by filling in the blanks marked
6-10 in not more than 3 words in the table below.

Radley College

SENIOR BIOLOGY TECHNICIAN

From July, 2007

Radley College is an independent boarding school of about 630 pupils, aged 13 to 18, situated in
Abingdon, some four miles south of Oxford. We are seeking a laboratory technician to take over as
Senior Technician in our well-equipped and successful department.



Working hours are subject to negotiation and will be geared to cover normal teaching periods.
Holidays include the normal school holidays (approx. 17 weeks per annum) save for a day or so at
the start and end of the Christmas and Easter holidays, and approximately five days at the start
and/or end of the summer holidays.

The salary for this appointment will reflect the qualifications and experience of the successful
applicant and will be in the region of £ 25,000.

For further details please contact the HR Department at 01235 5430000 or visit our website
www.radley.org.uk.

Closing date: 15™ December, 2007

Radley College Job Offer
Position: 6 Laboratory Technician
Working Hours: 7
Holidays: 8 per year
Salary: approximately £ 25,000 for 9 applicant
How to contact: call 10 or visit the website
Section C

Read a passage with ten blanks. Select one word for each blank from a list of
choices in the box. Don’t use any of the words in the bank more than once.

College costs vary quite a bit, depending upon the type of school attended. For example, at
many of the more expensive private schools, 11 costs (including tuition, room, board,
books, travel to and from home, and other expenses) may 12 $ 20,000. Of course, public
universities are much cheaper. At these schools, tuition is 13 higher for out-of-state
students than it is for those whose 14 residence is within that state. Tuition at community
colleges 15 about half of the in-state cost of public, four-year colleges and universities.

For those who cannot afford the cost of a college education, 16 aid is the answer.
Students in the U.S.A. received about $ 20 billion per year in financial aid. In recent years, nearly
75% of students in postsecondary programs have been receiving some form of financial aid. There
are three main types of financial aid: (a) 17 (grant), which are gifts that students do not
repay; (b) 18 to students and/or their parents; and (c) student 19 (work/study), a
part-time job which the school gives the student for the academic year. Most financial assistance to
outstanding students who do not need the money (commonly called merit-based aid) is limited.

The funds for all of this aid come from three main sources—the federal government, state .
government, and private 20 . Every American college and university has a financial aid .

office to help students find out what kind of aid they might be qualified to get and to assist them in
. 6 .



completing the complicated application forms. Aliens who are permanent residents in the U.S.A. are

qualified to receive government assistance, but foreign students are not.

A) financial I) averages

B) annual J) permanent

C) scholarships K) employment
D) loans L) manufacture
E) prejudice M) significantly
F) exceed N) entertainment
G) constant O) contributions
H) yield

6. Reading comprehension (Skimming and Scanning).
Go over the passage quickly and answer the questions.

For questions 1—7, mark

Y (for YES) if the statement agrees with the information given in the passage;
N (for NO) if the statement contradicts the information given in the passage;
NG (for NOT GIVEN) if the information is not given in the passage.

For questions 8—10, complete the sentences with the information given in the passage.
Immigration in the Course of History

As we look back at the 20™ century we realize that never in the human history have humans
migrated so much. Millions of people have left their homes to relocate in other parts of the world in
order to change their destiny. People from all over the world have dared to dream of a better future
for themselves and for their children.

. Others were forced out of their homelands in order to escape atrocities (R, #4T). The two
world wars during this century forced large numbers of people to seek refuge in a distant land in
order to survive.

B Australia

Since 1945, over six million people have come to Australia as new settlers. Their arrival has
had a marked influence on all aspects of the society. The trigger for a large-scale migration was the
end of World War II.

In Europe, millions of people were driven outside their homelands, unable to return. In
Australia, there was a desperate shortage of labor and a belief that substantial population growth
was essential for the country’s future.

These factors led to the creation of a federal immigration program in 1945.

By 1947, a post-war immigration boom was under way, with a large and growing number of -

7 .



arrivals of both government-assisted and other immigrants.

Agreements were reached with the United Kingdom, some European countries and the
International Refugee Organization (IRO) to encourage migrants, including displaced persons from
war-torn Europe, to come to Australia. Between October 1945 and June 1960, 1.7 million people
arrived.

A million more migrants arrived in each of the following four decades. Today, nearly one in
four of Australia’s almost 20 million people were born overseas. New Zealand and the United
Kingdom are the largest source countries for migrants, but other regions—notably Asia—have
become more significant.

The most ambitious part of Australia’s migration program followed the end of World War II.
Australia negotiated agreements with other governments and international organizations to help
achieve high migration targets. These agreements are no longer in force.

B Canada

In 1947, the Canadian government proposed broadening immigration policies as it set its sights
on two main objectives: to populate Canada and, by so doing, expand its domestic market and
develop the country’s resources. But Canada remained opposed to massive immigration from the
East—a tendency that continued to shape immigration policy until 1962. Canada stressed its former
selective policies and reasserted its right to accept or refuse particular classes of immigrants. Other
political and international forces at the time, however, contributed to making Canada a country of
immigration. In fact, the years following World War II saw the establishment of international bodies
and the introduction of human rights legislation and a pressure to welcome “displaced persons”
from Europe. This pressure led to the abolishment of the Chinese Immigration Act in 1947. The
Chinese Immigration Act of 1952, however, maintained earlier exclusion based on nationality,
ethnicity, climate compatibility, lifestyle and values. _

Contrary to the 1920s, immigration focused primarily on the construction and manufacturing
industries as opposed to agriculture and mining. A wave of immigration from southern Europe
swept across post-war Canada to fill the need for manual labor. The immigration of a highly skilled
workforce was also encouraged in the areas of health, education and technology, mostly from
Europe.

B The United States of America

America was built by immigrants. From Plymouth Rock in the seventeenth century to Ellis
Island in the twentieth, people born elsewhere came to America. Some were fleeing religious and
political persecution (323 ). Most, however, came for economic reasons and were part of extensive
migratory systems that responded to changing demands in labor markets. Their experience in the
United States was as diverse as their backgrounds and aspirations. Some became farmers and other
toiled in factories. Some settled permanently and others returned to their homeland. Collectively,
however, they contributed to the building of a nation by providing a constant source of inexpensive
labor, by settling rural regions and industrial cities, and by bringing their unique forms of political
and cultural expression.

* 8 e



The volume of immigration before the 1960s was staggering. Figures for the colonial period
are imprecise, but by the time of the first census (A I &) of 1790 nearly 1 million
Afro-Americans and 4 million Europeans resided in the United States. The European population
originated from three major streams: English and Welsh, Scotch-Irish, and German.

Between the end of World War II and the passage of important immigrant reform legislation in
1965, most newcomers to the United States consisted of Europeans displaced by war and Mexican
agricultural workers. In 1948 Congress passed the Displaced Persons Act that eventually admitted
some 400,000 Europeans uprooted by war, although displaced people from Palestine, China, and
India were ignored. Congress also responded to the requests of agricultural interests in the
Southwest and allowed temporary workers from Mexico, into the country after 1952.

More than 1 million people are entering the U.S. legally every year. From 1983 through 1992,
8.7 million of these newcomers arrived—the highest number in any 10-year period since 1910. A
record 1.8 million were granted permanent residence in 1991. Because present law stresses family
unification (4 —), these arrivals can bring over their spouses, sons and daughters: some 3.5 million
are now in line to come in. Once here, they can bring in their direct relatives. As a result, there
exists no visible limit to the number of legal entries.

B Australia today .

Natural increase has been the main source of population growth over the past hundred years,
contributing two-thirds of the increase in population between 1901 and 2001. Immigration has also
been a significant contributor to Australia’s population growth, and immigration’s contribution to
population growth is likely to increase during the next 30 years as the ageing of Australia’s
population leads to the annual number of the deaths exceeding births. It is possible that sometime in
the 2030s, immigration may become the only source of growth in population.

1. This article is a brief history of immigration for the countries as the major destination of
immigrants.
World War II was a key cause of the immigration boom in the past century.

3. The Immigration Act of 1952 by Canada abolished all restraints on immigration.
Most Americans are offspring of immigrants who came to the new continent to flee political or
religious persecution.

5. The Displaced Persons Act passed by American Congress in 1948 admitted all immigrants
uprooted by war.

6. There is no actual limit to legal entries to the United States for the law protects family
unification.

7. Canada encouraged Asia immigrants with high skills to settle inlands.

1. [Y] [N] [NG] 2. [Y]1[N][NG] 3. [Y][N] [NG] 4. [Y] [N] [NG]
5. [YT[IN] [NG] 6.[Y] [N] [NG] 7.[Y] [N] [NG]




8. The main originations of the early European immigrants to America are

9. Since 1910, the highest boom of immigration to the United States occurred in the decade from

through .

10. In Australia, it is predicted that immigration may become the only source of growth in

population because the annual number of deaths may

7. Writing.
Write a thank-you letter for a job interview. You should write at least 120 words
following the outline given below in Chinese:

1.

2.
3.
4

RIEMRAFERONE, EHRRAIX 60 TIENRERRIE
PRAG WA P X 43 TAE 5

& R HEHA R BA R EKVREE L
HRFREE L RITHR .
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2 Shopping for Nothing ‘REEMY)

1. Listening comprehension.
Section A
Listen to the five short conversations only once. Choose the appropriate letters
A—D to answer each question.
1.  A) Buy a parrot. C) Teach the parrot to talk.
B) Talk to the parrot. D) Find someone to care for the parrot.
2. A) The man won’t go with the woman.
B) The man will buy a present for the woman.
C) The woman will buy a present for her aunt.
D) The woman will buy a present for the man.
3.  A) He finished playing tennis with the photographer.
B) He didn’t know he was being photographed.
C) He shares the woman’s opinion of the photos.
D) The photographer could have gotten more pictures.
4. A)Inagarden. C) At a florist’s shop.
B) In the woods. D) At a post office.
5.  A)He can’t really afford a car.
B) He certainly has enough money for a car.
C) He should get a new car, not a used one.
D) He doesn’t really need a car.

Section B
Listen to the two long conversations twice. Choose the appropriate letters A—D to
answer each question.
Conversation 1
6. A) Within 30 days. B) After 30 days. C) Within 13 days. D) After 13 days.
7. A) The refund. B) The charge. C) The receipt. D) The signed bill.
Conversation 2
8. A) She can’t use the computer to edit word document.

B) She can’t use the computer to connect to the Internet.

C) The computer crashed onto the ground.

D) The computer has no modem.
9. A) Because it is againét the shop’s policy to replace computers with minor problems.

B) Because the shop has not checked the problem.

'11.



